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Chapter 4

Solve the following equations and inequalities and graph their solutions.
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Gloria is weighing combinations of geometric solids. m 4 cylmax"s and
5 prisms weigh 32 ounces and that 1 cylinder and 8 prisms weigh 35 ounces. Write
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and solve a system of equations to determine the weight of each cylinder and prism.
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Arectangular flower garden is planted in a rectangular yard that is 16 meters by 12 -
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around the edges. Find the dimensions of the garden. '
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Make a Complfetey graph of the system of inequalities:
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Make a complete graph of the system of inequalities:
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Chapter 5

f(x)=3x
Use the following functions:  g(x)=x+1

h(x)=x*+2
Find the following:
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Multiply.
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For each sequence give the explicit and recursive rule
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